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Ho va tén............ Ngay hoc:

Cau 6: Giai cac phuong trinh sau:

d, (x+2) —x(x+2)=0 e, (x+3)(2x-3)=2x"-9

f, 2(4x=7)=3(x+1)+18 g (x+2) —(x+3)(x-3)=1
h, 4(2x-3)-5=6(3-x)-7 i, (x=2)(2x=3)-2x"+3x=0
HD:

d, (x+2)2—x(x+2)=0<:>x2+4x+4—(x2+2x)=0

Sl +dx+4-x"-2x=0=2x+4=0=2x=4d > x=-2

e, (x+3)(2x—3)=2x2—9©2x2+3x—9=2x2—9

& 27 +3x-9-(2x"-9) =0 2x* +3x-9-2x* +9=03x=0<> x =0

f, 2(4x—7):3(x+1)+18©8x—14=3x+3+18<:>8x—3x=21+14<:>5x=35<:>x=7
2 2 2

g, (x+2) —(x+3)(x—3)=1<:>(x +4x+4)—(x —9)=1

Sx+dx+4-x"+9=14x+13=1dx =12 x=-3

h, 4(2x—3)—5=6(3—x)—7c>8x—12—5=18—6x—7

S 8x—17=11-6x=8x+6x=11+17 < 14x=28=>x=2

1, (x—2)(2x—3)—2xz+3x=0(:)2)62—7x+6—2x2 +3x=0<:>—4x+6=0©x=%

Cau 7: Giai cac phuong trinh sau:

x—-3 x-3 x-3 x-3 2x—1 x-1 x+1
+ = + + =1

s f’ -
13 14 15 16 3 2 6
HD:
x-3 x-3 x-3 x-3 x—3 x-3 x-3 x-3
, + = + = + - - =0
13 14 15 16 13 14 15 16
@(x—3) L+i—i—i =0=x-3=0=x=3
13 14 15 16
2x—-1 x-1 x+1 2 1 1 1 1 1 1 1 1 2
f, - + =leo—x————x+—+—x+—-=1 &S —x+-=lo—x=—x=2
3 2 6 3 3 2 2 6 3 3 3
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